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fx)=x34+mx®>+nx+1
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a+b-4=0,-8a+4b-4=0
FAS A™St EHa=1,b=3
“ab=3

ax® +bx* -4 = (x> + x - 2)(ax + 2)
S-S A7fsto] AFE v wstH
a=1,b=3 .. ab=3




SA 32+ 2x+1=a(x-1)%2+b(x—1) +c o] xof #ZF3F
o, 4% b ©] 2

® 3 @-4 ®2 @)s ® 6

B

32 +2x+1=a(x-1)2+b(x-1)+c
= (x—l){a(x—1)+b}+c

17 3 2 1
3 5
1] 3 5 6 <« ¢
3
3|i<—c
T
a

x=1aHUsIHc=6

3+ 2x+1=a(x-1)2+b(x-1)+6
—3x2+2x-5=a(x—1)2+b(x-1)
- (x-1)(Bx+5)=a(x-1)2+b(x-1)
L oPAS x-1 2 L
3x+5=a(x-1)+b=ax—-a+b




o]

= B = a+ beuﬂ
WA % 87 ghe 28 Betel,

, 2A + BE oh= 1ol A
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(=2x3 X b) X 2 + (x® X ax) X 2 = (—4b + 2a)x>

2a —4b = -8

L a—-2b=-4
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